Name ____________________________________________________ 

Chemistry I HD -  Chapters 6 and 9: Stoichiometry Study Guide 

Goals:

· Define: mole
· Convert grams to moles, moles to grams, atoms to moles, moles to atoms, atoms to grams, grams to atoms for an element or compound
· Know the value and definition of Avogadro’s number.
· Calculate percent composition of a compound 

· Explain mole ratio 
· Calculate theoretical yields when given the liming reactant (Convert: moles A to moles B, grams A to moles B, moles A to grams B, grams A to grams B)

· Find empirical and molecular formulas

Find the molecular weight of each compound. 

1.  BaI2
2.  AgC2H3O2
Convert. 

3.   0.4 moles of Sn to atoms

4.   32 g of K2O to molecules

5.    3.7 g of H2  to moles

6.   800 g of CaCl2 to moles

7.   0.75 moles of H2O to grams

8.   9.0 g of Cl2 to atoms

9.    0.5 moles of KNO3  to grams

Find the percent composition for each element in the compound.  

10.   Mn2O7
11.  AuNO3
Stoichiometry

12. 
MgO    +      H2O   -----> 

Mg(OH)2
If you started with 3.7 moles of magnesium oxide, how many moles of magnesium hydroxide would be produced?

13. Na  +  I2  --->  NaI 

If 2.8 grams of sodium were used for the reaction, and an excess of iodine was present, how many moles of sodium iodide would be produced?

14.    N2    +    3 H2    ------>        2 NH3

How many grams of ammonia were produced if you started with 10 moles of nitrogen and excess hydrogen gas?

15. Pb(NO3)2  +  K2CrO4  -->  PbCrO4  +  2 KNO3
If you started with 0.97 g of K2CrO4 and excess Pb(NO3)2, how many grams of KNO3 could be produced? 
LIMITING REACTANT

16.   Pb(NO3)2  +  K2CrO4  -->  PbCrO4  +  2 KNO3
If you started with 0.97 g of K2CrO4 and 0.97g Pb(NO3)2, how many grams of KNO3 could be produced?  How many grams of PbCrO4 could be produced?  How much of the left over reactant will be present at the end of the reaction?

EMPIRICAL AND MOLECULAR FORMULAS

17.  Caffeine has the following percent composition: carbon 49.48%, hydrogen 5.19%, oxygen 16.48% and nitrogen 28.85%. Its molecular weight is 194.19 g/mol. What is its molecular formula?
